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Question Number : 1 Question Id : 2012981093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which of the following file formats are desktop icons found?

Options:
; % -co..exeand jpeg

5  -ico, .exe and .dll
= % .dll, .ico and .docx

» dll. .jpeg and .docx

Question Number : 1 Question Id : 2012981093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, % -Ico, .exe 3T jpeg

o o -ICO, .exe 3 il
. » -dll, .ico 3R .docx

dl

, .jpeg HIT .docx

Question Number : 2 Question Id : 2012981094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Resource management can be done by the operating system via:
Options:

, » time division multiplexing

¢ Space division multiplexing

i

-  Dbothtime and space division multiplexing



4 % frequency division multiplexing

Question Number : 2 Question Id : 2012981094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 3 Question Id : 2012981095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which command can be used to get the [P addresses of all the network routes?

Options:
1 % netstatic -r

> % Detstatic -p

5 » nhetstat-p

4 « netstat-r

Question Number : 3 Question Id : 2012981095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1 # hnetstatic -r

- » hetstatic -p

5 = hetstat -p



4 « hetstat -r

Question Number : 4 Question Id : 2012981096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

tool has been designed for logging, capturing and displaying HTTP traffic.
Options:
| « httpry

> % Justniffer

5 % hgrep

4 % Passivedns

Question Number : 4 Question Id : 2012981096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

| v httpry
> % Justniffer
- % hgrep

4 % Passivedns

Question Number : 5 Question Id : 2012981097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Embedded software is used in:

Options:

, w online railway information systems

- « mMobile phones
» e-Learning software

3

4 % multimedia movies

Question Number : 5 Question Id : 2012981097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
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Question Number : 6 Question Id : 2012981098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Microsoft Excel, if you press . the cell accepts your typing as its contents.

Options:
1.« Enter

» % Cirl + Enter
5 % Shift

4 % Insert

Question Number : 6 Question Id : 2012981098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
1 « Enter
5> % Cirl + Enter

- = Shift

4 % Insert

Question Number : 7 Question Id : 2012981099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is the odd one?



Options:
, w Applications

> of Peripherals

5 % Programs

4 % Software

Question Number : 7 Question Id : 2012981099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 8 Question Id : 2012981100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A handheld device that allows you to control your computer without having o fype instructions from a keyboard is
called:
Options:
1 % Tablet

~» #% PDA
= « Mouse

4 % Mike

Question Number : 8 Question Id : 2012981100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 9 Question Id : 2012981101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which type of device is a computer printer?
Options:

1 % Input

-~ % Input/output

z % Software

4 Output

Question Number : 9 Question Id : 2012981101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 10 Question Id : 2012981102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MB stands for:

Options:

, » Microbytes



>  Megabytes

- u Minibytes

4 # Milibytes

Question Number : 10 Question Id : 2012981102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TH.E. & F7Y 2]

Options:

| % FTSHETRCH
o v HTEREHE
o (HSTETSEH
, % HelEEH

Question Number : 11 Question Id : 2012981103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the name of the program that controls a computer?

Options:
| « Operating system

> % Application program
= % DBrowser

4 » File Manager

Question Number : 11 Question Id : 2012981103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
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Question Number : 12 Question Id : 2012981104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following contains components such as ROM. USB ports and PCI ports?

Options:
. % CD-ROM

> « Motherboard
5 % Microprocessor

4 % Hard disc drive

Question Number : 12 Question Id : 2012981104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 13 Question Id : 2012981105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following cards is responsible for displaying images on a computer screen?

Options:
1 # Modem card

-  Video/graphics card

= % Sound card



4 % Network interface card

Question Number : 13 Question Id : 2012981105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 ® T—ﬂ?ﬂ'ﬂ-‘:l@'

. AEFIV/IFFT FTS

T #® 'H'I::'FE'.'EFIé'

, x TCd%H FHGHH FS

Question Number : 14 Question Id : 2012981106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
For successful data communication, each computer follows a set of rules known as:
Options:

, = Principle

> % Custom
= % DBackbone

4 « Protocol

Question Number : 14 Question Id : 2012981106 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 15 Question Id : 2012981107 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Connecting to the Internet by using a phone line and a modem is called as connection.
Options:
, w digital

o o dial-up
% % broadband

4 % dish

Question Number : 15 Question Id : 2012981107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 16 Question Id : 2012981108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Booting the system means

Options:

, « loading the operating system

- % running an application program called *booting’
- » pPhysically kicking the computer

, % dismissing the computer

Question Number : 16 Question Id : 2012981108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 2012981109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT an example of a Web browser?
Options:

, w Microsoft Internet Explorer

> % Mozilla Firefox

s #® Netscape Navigator

4  Google

Question Number : 17 Question Id : 2012981109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 18 Question Id : 2012981110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
‘.com’ indicates which tvpe of website?

Options:



1 « Commercial

> % Complex

Casual

Ll
B

4 % Contract

Question Number : 18 Question Id : 2012981110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 19 Question Id : 2012981111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
With respect to memory, CD-R stands for:

Options:
1 « CD-Recordable

> % CD-Runner
z % CD-Receiver

4 # CD-Rewritable

Question Number : 19 Question Id : 2012981111 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. » CD-Recordable(FE-Raisaa)



. % CD-Runner(@EII=R)

. CD-Receiver(@Er RdeR)

= "

. CD- Rewritable(@Er-3sead)

4 %

Question Number : 20 Question Id : 2012981112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is also known as a Service Program?

Options:
1 ® 0s

> % Device driver
5  Utility software

4 % Application program

Question Number : 20 Question Id : 2012981112 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 21 Question Id : 2012981113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The work done by operating system to bring the computer in full working condition is called

Options:
1 #% activation

> « boot



- % cache

4 % backup

Question Number : 21 Question Id : 2012981113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 22 Question Id : 2012981114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
software can impair a computer’s performance.

Options:
1« Anfivirus

> % System

- % Application

4 # Desktop

Question Number : 22 Question Id : 2012981114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 23 Question Id : 2012981115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A code of webpage is written using
Options:

1 Hypertext Markup Language

5 % 5™ generation language

. % WinZip

4 ® Perl

Question Number : 23 Question Id : 2012981115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| v ETSIEHEE ATRHT oigast (HTML)

. EETET (WinZip)

S

, x T (Perl)

Question Number : 24 Question Id : 2012981116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is an e-mail attachment?
Options:

, w Areceipt sent by the recipient.

- A separate document from another program sent along with an e-mail message.

- » A malicious parasite that feeds off messages and destroys the contents.

4 % A linked list



Question Number : 24 Question Id : 2012981116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 25 Question Id : 2012981117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
DOS CANNOT retrieve any data from a disk if a computer virus corrupts the of the computer.

Options:
1 « file allocation table

> % BAT files

- % root directory area

4 % directory area

Question Number : 25 Question Id : 2012981117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 26 Question Id : 2012981118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which application is commonly used to prepare a presentation/slide show?

Options:
, = Adobe Photoshop

> « Microsoft PowerPoint

- » Outlook Express

4 % Internet Explorer

Question Number : 26 Question Id : 2012981118 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, » Adobe Photoshop (TE1F WIEreiT)

. » Microsoft PowerPoint (ATSHIEIFE TTaTdise)

i Qutlook Express (3T3<els TFHIH)

, = Internet Explorer (37eTaic TaF-ail})

Question Number : 27 Question Id : 2012981119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
‘What will be the output if you format the cell containing 5436.8 as ‘#.##0.00" in MS Excel 20167

Options:
. % 5.430.00
.« 5.436.80

. % 5:436.60

4 W 6.8

Question Number : 27 Question Id : 2012981119 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, % 5,430.00
. » 5436.80
. » 5436.60

Question Number : 28 Question Id : 2012981120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Pressing is a quick way to center-align a paragraph.
Options:

1 % Ctrl+L

> o Ctrl+E

z ® Ctl+R

4 ® Ctrl+17J

Question Number : 28 Question Id : 2012981120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
% Cirl+ L

. Ctrl + E
. = Ctrl + R

4% Ctrl + J

Question Number : 29 Question Id : 2012981121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following shortcuts is used to insert a new slide in MS PowerPoint?

Options:



1 ¢ Ctrl+ M

> % Ctrl+N
3 & Ctrl+0O
4 ® Ctl+P

Question Number : 29 Question Id : 2012981121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

L v Ctrd + M

, % Ctrl + N
2% Ctrl + O

. % Ctrl + P

Question Number : 30 Question Id : 2012981122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the minimum number of rows and columns that a Word 2007 table can have?
Options:

1 % 15 rows and 10 columns

- % 2rowsand 1 column
= # 2 rows and 2 columns

4 « 1rowand 1 column

Question Number : 30 Question Id : 2012981122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % 15 9fFg 3 10 Fres

. x 2 9fFa 3T 1 FeH
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Question Number : 31 Question Id : 2012981123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
=MOD(-3,2) entered in a cell displays:
Options:

1 ® -1

> 1

Question Number : 31 Question Id : 2012981123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fer F 27 =MOD(-3,2) FaT Z2irar &7
Options:

L w1

> 1

Question Number : 32 Question Id : 2012981124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which device allows your compater to talk to other computers over a telephone line as well as access the internet?

Options:
1 ® RQIJ'[
> ® Drivers

= % Hard Disk

4 « Modem



Question Number : 32 Question Id : 2012981124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. » RQAM
, » T5aH
3.«%33 E-Ié- gla'

4 o HIEH

Question Number : 33 Question Id : 2012981125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Computers which are connected to the internet are identified by:

Options:
1 « IP address

> # Street address
- #% Residential address

4 % E-mail address

Question Number : 33 Question Id : 2012981125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 34 Question Id : 2012981126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Times New Roman, Comic Sans and Calibri are different tyvpes of:

Options:
, » shapes

> % Objects
= « fonts

4 % Vvariations

Question Number : 34 Question Id : 2012981126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 35 Question Id : 2012981127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following Excel functions will give you the current date and time?
Options:

, % Today()

o> o NOW()

5 = Day()

4 » Date Time()

Question Number : 35 Question Id : 2012981127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:



, = Tloday()
- « Now()

s » Day()

4 » Date Time()

Question Number : 36 Question Id : 2012981128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

To apply or remove underline in MS Excel 2013, press keys together.
Options:

1 ® Ctrl+1

> % Ctrl+2

z % Ctrl+3

4 o Ctrl+4

Question Number : 36 Question Id : 2012981128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

L% Ctrl + 1
, » Ctrl + 2
2 % Ctrl + 3

. v Ctrl + 4

Question Number : 37 Question Id : 2012981129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to make hidden rows visible within a selection in MS Excel?

Options:
, = CTRL+PgUp

5 % CTRL + PgDn



» « CTRL + SHIFT + (

4 % CTRL + SHIFT + &

Question Number : 37 Question Id : 2012981129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel ﬁ,ﬁﬁ?%@ﬁ%ﬁrﬁﬁﬁ?aﬁmm#ﬁv%ﬁ HIIST FT 82

Options:

. % CTRL + PgUp

, » CTRL + PgDn
. « CTRL + SHIFT + (

. # CTRL + SHIFT + &

Question Number : 38 Question Id : 2012981130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Which file format is used to save Windows Media Audio?
Options:

1 % mp3

5 Wma
% mp4

=

4 % Wwma.a

Question Number : 38 Question Id : 2012981130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Windows Media Audio I Tg=w F O 7 ¥ wisa wHT &7 39aET &Far Sar 272

Options:
% Mp3

5 «f WMa
3 % mp4

4 % Wma.a



Question Number : 39 Question Id : 2012981131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to increase font size by 1 point?

Options:
, ® CTRL+[

5 o CTRL ]

s % CTRL +1

4 % CTRL++

Question Number : 39 Question Id : 2012981131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Bl F HFN TH T Te & [T FHoil TSl 4T §7

Options:

..u CIRL ¥
.o BIRL #]
- % CTRL + |

. % CTRL + +

Question Number : 40 Question Id : 2012981132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
You can make a hyperlink in Word document by using which of the following tabs?

Options:
| % Layout
> % Format

= « Insert

4 ® Design

Question Number : 40 Question Id : 2012981132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



T TF T 7 ¥ 57 &5 F7 3999 T WORD SEaE= H gEwWias 34T Hoha 87

Options:
| % W3S

EI&QﬁﬁE
S.Jﬁé—
4.%“3%-313?

Question Number : 41 Question Id : 2012981133 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to select the preceding cell's contents?

Options:
, # CTRL+M

- « SHIFT + TAB
5 % CTRL+E

4 # CTRL+1]

Question Number : 41 Question Id : 2012981133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Rroe F Tl 1 799 F 5 v Bew g @ 39 G S 2

Options:

.« CTRL + M
- v SHIFT + TAB
2% CTRL + E

4 % CTRL + J

Question Number : 42 Question Id : 2012981134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Surface wave screen is categorised under which tvpe of monitor?

Options:



« Gas plasma display
« Liquid crystal display
5 « Touch screen

4 # Resistive screen

Question Number : 42 Question Id : 2012981134 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
THT 39 T E 9w #7 AffaeT & ded Feilea §7

Options:

. % T wem=AT BT

> % Toaas e BT
- v o TR
4_% ﬁ%ﬁ'ﬁﬁ?

Question Number : 43 Question Id : 2012981135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which technology enables you to convert different types of documents or images captured bry 2 digital camera into
aditable and searchable data?

Options:
. + Optical Character Recognition

» # Optical Code Recognition

s ® OMR

, # Optical Code Reader

Question Number : 43 Question Id : 2012981135 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fia #@ FwET Ao B v F grEear A B F o Fon o sfE 1 muem
T T TWEE ovT ¥ F ofiefEe e A Wew e 2

Options:

| v HifteHa FieeX Rafeas=



.« Mftewra FE FEiae=
T ® 3-ﬂ'QT|'3-TIT

Question Number : 44 Question Id : 2012981136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the max data transfer rate for [EEE 13947
Options:

1 « 400-800 MB/S

5 % 100-150 MB/S
= % 100-250 MB/S

4 % 50-100 MB/S

Question Number : 44 Question Id : 2012981136 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

|IEEE 1394 & v 31f¥eraH 32 Tu=rawor &3 m 272
Options:

| v 400-800 MB/S
. = 100-150 MB/S
- = 100-250 MB/S

., # 50-100 MB/S

Question Number : 45 Question Id : 2012981137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is a commonly used unit for measuring the speed of data transmission?
Options:

, « Bits per second

> % Character per second

= % Hertz



4 % Nano seconds

Question Number : 45 Question Id : 2012981137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

327 grafRee #7 71fg F #°a & Ow 3mEalk | 39Eer $ S el s Fww g
Options:

| v foe o ¥
gaﬁé?

Question Number : 46 Question Id : 2012981138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A is a communication device that enables computers to communicate via telephone lines or other means.

Options:
1 « Modem card

> % Network interface card
%z % Data card

4 % Video card

Question Number : 46 Question Id : 2012981138 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

UF FER 3TV § A FgEL F SHGE A5l I FeF FEGHAT (W) F A T 4
H TEHA = 5
Options:

| v T FE

, x TCdew FEHH FS
5 % 3aT FS

4 ® é’lﬁ'-ﬂ’l'a?é'



Question Number : 47 Question Id : 2012981139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

are sneaky computer programs that can erase your data and even your whole system.
Options:
1 Computer virus

> % Spyware

5 % Spy bot

4 % Sniffers

Question Number : 47 Question Id : 2012981139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
o ¥ FET H 93 & a1 9§ S A 3T AR meE A R smaer gfr wover &
7% FT Hed B

Options:

L=
| v P TTE

> ® SIEEED
5 » TS A

4_%%@

Question Number : 48 Question Id : 2012981140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following verifies the merchant and their payment information?

Options:

. « Dual signature

- » Digital certificate

- u Certificate authority

4, » Certified signature



Question Number : 48 Question Id : 2012981140 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ST 3R 3eTeh! 3T SR GlaRaa HLar gl

Options:

1.« eI grareR (Dual signature)

, » [Bface gAOME (Digital certificate)

- % FHATOTET ISR (Certificate authority)

., % FHATUE g (Certified signature)

Question Number : 49 Question Id : 2012981141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

can be used when there are two or mone data series and where youn can point up the contritutions to the whole in
MS Excel,
Options:

1 % Pie chart

> « 100% stacked column chart

5

Line chart

Ly
®

Radar chart

o
®

Question Number : 49 Question Id : 2012981141 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

gr wWuET 3 § HEE g Awer & T T FAT FT FEaT £ F9T @ 3T MS Excel F HUUS:
e, 3T FT Eed £

Options:

.

>« 100% TIFs Fad =C
L x oS =TC

4 % TR AR

Question Number : 50 Question Id : 2012981142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
is responsible for converting higher level protocol address to physical network address.

Options:
1 ® 1P

>  ARP
5 % ICMP

4 % BOOTP

Question Number : 50 Question Id : 2012981142 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
39 TR Qe T2 Fr i Acas ey § uiEfag #== F v Seaer 2

Options:

., v ARP
5 = ICMP

, # BOOTP

Question Number : 51 Question Id : 2012981143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Out of the following. which option will you use to create a document which looks like newspaper?
Options:

1 % Tables

- » Bullets and Numbering

3 « Columns

4 % Tlab Stops

Question Number : 51 Question Id : 2012981143 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
o & ¥, ¥EIR $r E BEa e craee a9 F v, 3w B Beew & 390 S

Options:

1_@3%&?
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Question Number : 52 Question Id : 2012981144 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Pivot table is useful for quickly creating unweighted:
Options:

1 « cross tabulations

> % charts

5 % IMages

4 % logs

Question Number : 52 Question Id : 2012981144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

e aa Jegr ¥ g9 ed g1 & TorT 39aET 2

Options:

|, e wwoh ( Spe)

S ] EITé‘

= % O

4 % olld

READING COMPREEHENSION

Section Id : 201298100
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 201298100
Question Shuffling Allowed : Yes

Question Id : 2012981145 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension

AKkbar and Birbal

Emperor Akbar was known for his generosity. good nature and love for
the arts. He patronised artists irrespective of their religious background.
Akbar wanted to test the artist in Birbal. One day he asked Birbal if he
could draw a portrait of the Emperor. Modestly Birbal agreed and drew a
reasonably good portrait of Akbar.
Akbar called a few ministers and asked them to review the portrait. The
first one saw the picture from various angles and different distances. He
took the artist’s brush and put a dot at a particular spot.
“Hey. this does not look like the Emperor!™ he said.
Another followed suit. He looked at it up and down and majestically put
another dot. “Oh. this spot certainly is the one not resembling the
Emperor,” he declared with authority.
A few other ministers were also waiting for an opportunity to pull
Birbal’s leg. This was a golden opportunity for each of them. They all put
dots here and there.
Emperor Akbar said. “Birbal, how come there are so many dots these
people have put on it? But the whole picture looks like me. no doubt!”
“Yes. Your Majesty! [ have done a reasonable job. Let me see if these
persons can draw a neat one without these blemishes, or at least correct
the spot they marked. Kindly call them to do this job.” Birbal requested.
When the ministers heard this, they began excusing themselves. “Oh no!
The picture was good anyway, but [ meant that it could be improved.”
“T lost touch with the brush long ago.” said another. Each one had some
excuse or the other and withdrew from the offer in embarrassment.

Sub questions

Question Number : 53 Question Id : 2012981146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Why did Akbar ask Birbal to draw his portrait?

Options:
, w There were no such portraits.

-  He wanted to judge Birbal’s skill.

- » He liked getting portraits made.



, = His other portraits were not good.

Question Number : 54 Question Id : 2012981147 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
‘What was the first minister’s foremost action on
being celled to review the portrait?

Options:

, » Hetook abrush and put a dot on the portrait.

-~ » He called the other ministers to praise the work.
- » He majestically put the brush to the portrait.

4 « Helooked at it from all angles and distances.

Question Number : 55 Question Id : 2012981148 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What was the Emperor’s reaction to the ministers’
comments?

Options:
| % Anger
- % Amusement

=z % Pleasure

4 « Confusion

Question Number : 56 Question Id : 2012981149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who was called to correct the errors in the portrait?

Options:
1 % The best artists
> « The ministers

= % Birbal

4 ® The Emperor



Question Number : 57 Question Id : 2012981150 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which one of the following was NOT one of the
responses from the ministers?

Options:

| « ~Butthe whole picture looks like the Emperor.”

“Oh, this spot certainly is not resembling the
> % Emperor.”

5 % Ilost touch with the brush long ago.”

4 % “Tmeant that it could be improved.”

Question Id : 2012981145 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension
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Question Number : 53 Question Id : 2012981146 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HFaT o 9T FI HIAT BT 97 F e FT F:Er

Options:

, » O @ B g9

., v T8 SREc & AT P WEAT =g A
. » 3¢ RO ST TEe o
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Question Number : 54 Question Id : 2012981147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ggor A 7 2 fr gFer 77 F R
AT ST TR FEH Tgel 1 Har?

Options:

o 387 T w9 o 3k By W o fg s
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Question Number : 55 Question Id : 2012981148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

afyat & feoafort & I gae & gfatear
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Options:

1 ® 2

EaEs

o B e
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Question Number : 56 Question Id : 2012981149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| % TI9SS FHeFRT Fr
> v AT F
o ® Waﬂ-

4 % THAT

Question Number : 57 Question Id : 2012981150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT § ¥ i @1 = Arar &
giafFarst # ¥ v A4 a1

Options:
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CUANTITATIVE APTITULE

Section Id : 201298101
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questionsto be attempted: 6



Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 201298101
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2012981151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If the numerator of a fraction is increased by 150% and the denominator of the fraction is increased by 350%, the
i B . i :
resultant fraction is o ‘What is the original fraction?

Options:

11
1 =® 17

11
o W 15

15
3¢ 17

13
4 # 15

Question Number : 58 Question Id : 2012981151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ofg v e @1 3w 150% 3R g2 350% sar femr =e ot aRum few = ¥ 79 Bew Far g7

Options:

11
1 = 17

2
(93]

43}
[y

11
R 15

15
3¢ 17

13
4 8 15



Question Number : 59 Question Id : 2012981152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

' ' . - ' i
The perimeter of a square is double the perimeter of a rectangic. The area of the rectangle i3 240 cm”, what is the area of
the square?

Options:

1 ® 100 cm?
> # 36 em?

z # 81 em?

4 « Cannot be determined

Question Number : 59 Question Id : 2012981152 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

vE g4 F i o we Fr aRfE f e B sraa # eEwa 240 < &1 S9 &7 SEE #4T &7

Options:

. % 100 cm?

> % 36 cm?

=z & 81 cm?

, » TUIRE FE BRI wwar €

Question Number : 60 Question Id : 2012981153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What should come in place of the question mark (?) in the following number series?

9 19 40 83 ? 345 696
Options:

1 ® 162

> 170

s % 175

4 % 166



Question Number : 60 Question Id : 2012981153 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT s@er # v e (?) & T W FiT d@7 J§&47 A 0?

9 19 40 83 ? 345 696
Options:

% 162
- & 170
2 % 175

. % 166

Question Number : 61 Question Id : 2012981154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Train A crosses 4 stationary Train B in 30 seconds and a pole in 20 seconds with the same speed. The length of Tmin A
15 244 m. What 15 the length of the stationary min B?

Options:

1 « 360m

> % 260 m
=z #% 300m

4 % Cannot be determined

Question Number : 61 Question Id : 2012981154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& ‘A TS & T3 O 50 UEE # Ue TRy & ‘B & 3T 20 BFE F vH G = 9H #44r £ oW A #r
wETE 240 m &) TRwT & B wa TR £7

Options:

. » 360 m

. % 260 m

- % 300 m



Question Number : 62 Question Id : 2012981155 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Calculate the approximate value. (Note: You are NOT expected to calculate the exact value.)

(18.001)% =?

Options:
1« 5830

> % 5500
5 % 6000

4 % 6480

Question Number : 62 Question Id : 2012981155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT A AT FL| (3T TEF AT T A0 FIA T 3TGRTHRT 74T )
(18.001)3 =2

Options:

. v 5830

, % 5500

. % 6000

4 % 6480

Question Number : 63 Question Id : 2012981156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A 280 m long train moving with an average speed of 108 km'h crosses a platform in 12 seconds. A man crosses the
same platfonm in 10 seconds. What is the speed of the man?

Options:
1 ® 5m/s
> o 8m/s

z ® 12m/s

4 % Cannot be determined



Question Number : 63 Question Id : 2012981156 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

108 kmi/h $r #HF 719 € 9= 97 UF 280 m o9 &F 12 OFs § UF =TWH & 97 F7 &1 0F
HEAT =T SEwd F 10 e # uw w1 ¥ e & ot w4 i

Options:
1 % 5 mis

s> o 8 mis

= % 12 m/s
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GEMERAL MENTAL ABILITY AND REASONING

Section Id : 201298102

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 201298102
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2012981157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Answer the following question based on the smmangement given below:

TWRIECNIPLBYT<D*E2EMVET#4FGS

[T (A) denotes the number of symbols immediately preceded by a number. (13) denotes the number of letters
immediately Tfollowed by a symbaol and (C) denoles the number of letters either NOT immediately followead by a monber
or NOT immediately preceded by a letter, then which of the following is the ascending order of the numbers denoted by

(A} (B) and (C)?
Options:

1 ® (C) (—A) (Bj
> ® (C) (B} ("é‘“:l

o #® (B) (C} (A'-)



4 v B)(A). (C)

Question Number : 64 Question Id : 2012981157 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

= (C), (A), (B)
- » (C), (B), (A)
- = (B), (C), (A)

. v B). (A), (©
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Which of the following words will come second if all of them are arranged alphabetically as in a dictionary?

Options:
, w Butterfly

> « DButler
= % DButcher

4 % Dutter
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Options:

, = Butterfly



- « Butler
= % DButcher

4 % DButter
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How many such pairs of letters are there in the given word each of which has a5 many letters between them in the word
&3 in the English alphabet?

CREATIVE

Options:

1 % One

> % Two
3 « Three

4 % Four
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The following question consists of two words that have a certain relationship to each other. Select that pair from the

options thal has the same relationship as the original pair of words,
MMarathon : Stamina
Options:



, = Relay: Independence

> u Jog: Weariness
o o Sprint : Celerity

4 % Hurdle : Perseverance
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For the following pair, find two words, that will come in place of T and 1T, related to the words already given — one word
for each of two related pairs.

L: Imert i Active 1 1
(1) Static (2} Statics (3) Helivn (4) Air
{A) Gymnast (B) Dynamic {C) Patticipation (DY) Smart
Options:
1« land B
> % 2and A

2 ® 3andC

4 % 4andD
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(1) Static  (2) Statics  (3) Helium (4} Air
(A) Gymnast (B)Dynamic (C)Participation (D)Smart
Options:

.« 1 3R B
. % 2 3T A
% 33RC
4% 43RD
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A group of three inter-related words are given. Choose a word from the given alternatives that is similar to the given
words and hence belongs to the same groun.

Marble : Slate ; Gnoziss
Options:

1w Quartzite

> % Limestone

z % Coal

4 # Sandstone
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The first Hindu-American to enter in the US House of Representatives as a senator is:

Options:
1 « Tulsi Gabbard

> % Sunita Williams
5 % Jyoti Sengupta

4 % AmiBera
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Given below are two statements labelled as Assertion (A) and Peason (R).

Mark your answer as per the codas providad below:

Assertion (A): Graben is a major relief feature resulting from the faulting activities. It 15, in fact. a valley ot narrow
trough bounded by one more parallel faules.

Reason (R): Block of the earth’s crust imayv be relatively raised or lowered between more or less parallel faults. The
lorwer part known as graben 15 formed due to the subsidence of middle part betwesn Two fiormal faulrs.

Options:
,  Both A and R are individually true and R is the correct explanation of A.

- # Both A and R are individually true but R is not the correct explanation of A.

- # A is true but R is false.

4 % Ais false but R is true.
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Which of the following rate is NOT decided by the Reserve Bank of India?

Options:
1 % DBank Rate

5 % Repo Rate
5 % Reverse Repo Rate

4 + Income Tax Rates
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Ligament connects

Options:

1 % muscles to bone

.

> « bone to bone
3 # nerve to bone

muscles to skin

o
®
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Who painted the masterpiece ‘Hamsa Damayanti’?

Options:
, = Ajolie Ela Menon

- u Rabindranath Tagore
= % Amrita Sher-Gil

4 Raja Ravi Varma
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Match List-I and List-II to select the correct answer using the code given below the lists:

List-I (Acts) List-II (Purpose)
A. Government of India Act, 1919 | 1.Provincial autonomy
B. Government of India Act. 1935 | 2.Separate electorates

C. Morley-Minto Reforms 3.Partition of India
D. Mountbatten Plan 4 Dyarchy
Options:

. % A-2.B-1,C-4,D-3
o u A-4,B-3,C-2,D-1

5 # A-2,B-3,C-4,D-1

. v A4,B-1,C-2,D-3

Question Number : 75 Question Id : 2012981168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

-l o gE-ll @ Fee w3 T F A9 BT e # @ 399 a1 @ 3 # 99T H

-1 (fafET) -1l (3227)
A. 8g WR AfafEwsE, 1919 1. TSR
B. #IRd W& fafad, 1935 2. qus foam=e #vea
C. ATel-fHer gur 3. 9T & st
D. AT3eaes AT 4. gfaemHe

Options:

. w A2 B-1, G4, D3
- Ak B3, 62,09
. » A2, B-3, C4, D-1

+ v A4, B1, C2, D3

Moclk
Group Number : 2
Group Id: 20129844
Group Maximum Duration : 5
Group Minimum Duration : 5
Revisit allowed for view? : No
Revisit allowed for edit? : No

Break time: 1



Mandatory Break time: Yes
Group Marks: 0

English typing test

Section Id : 201298104

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 201298104
Question Shuffling Allowed : No

Question Number : 76 Question Id : 2012981169 Question Type: TYPING TEST Display Question Number : Yes

The power of concentration manifests as focused attention and as a one pointed mind. When you focus your
mind on something, you conserve your energies and do not dissipate thern on irrelevant thoughts, This 1s why,
dewveloping concentration is vital for anvone, who is aspiring to be more efficient in life. Without it, your efforts
get cattered, but with it, vou can accomplish great things. Concentration has many uses and benefits. It assists
in studying, enables faster comprehension, improves the memory and helps in focusing on a task. Therefore, it
can ke rightly referred to as a powerful tool that helps vou use creative visualization and develop psychic
powers. When this ability is strong, the mind obeys you more readily and does not engage in futile or negative
thoughts. This ability plays an important role in meditation, gaining mental mastery, and attaining peace of
mind. & person, who does not concentrate or meditate often, finds himself irritated, restless and annoyed.
Such a persorn is often found to be occupied with restless thoughts claim his attention constantly, thereby
wasting his time and energy on useless matters. These thoughts actually rule their life. They become so used to
such conditions that they regard it as natural. However, it is one of the most dangerous situations that a
human being can encounter in his life. 5o, develop this power. You only need to train and exercise it. Forget all
your excuses about not having the tirme or being too busy. Do not say that the Ccircurmstances are not
appropriate, or that you cannot find a quiet place to exercise. With a little planning, desire and motivation, you
can always find the time to exercise each day, no matter how busy you are. Just make sure that you do not
inner resistance to concentration. For example, telling a child often, that he or she is not concentrating well
enough, Ccreates a subConsclous aversion to concentration and study. These become associated with Coerciorn,
lack of freedom, and doing something they do not like to do. Hence, when children grow up, it is no wonder
that their power of concentration is too weak. COne needs to understand that concentration can be a real fun, if
approached in the right way. [t should be practiced with joy, positive attitude, optimism, and understanding of
its great possibilities. Once you understand the importance and benefits of developing the power of
concentration, you will certainly grow as a mature huaman being. Some of the major benefits include, complete
cortrol o your thoughts, ability to foous your mind, freedom from futile and annoving thoughts, better
mernory, peace of mind, improved self-confidence, inner strength, inner happiness, more power ful and
efficient use of creative visualization, deeper and more successful meditation.
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Trekking and mountain climbing had always fascinated me. However, I did not know it was S0 arrazing until 1
finally experienced it. [ went for the Deoriatal to Chandrashila peak trek with two of my close friends and a
group of complete strangers whorm we oo befriended Chandrashila peak trek is considered ideal for the
beginners. The trawvel group that had arranged for this sport had given us prior information about the kind of
weather and atmosphere we should expect, the kind of clothes to carry and other equipment that should form
a part of our travel bags. We were extrermely excited about experiencing this new adventure sport and packed
all the stuff carefully We reached the Sari village from our hometown, Haridwar. It took around ten hours to
reach this village that was our base camp. We spent a night there and started our mountaineering experience
early the next morning. Eefore starting with this adventure sport, we were explained about its nitty gritty. Cur
trek: leader and his tearm were quite experienced. Our trek leader led us, while one of his team members moved
in the middle and the other at the end of our group to ensure proper guidance and security. We were given
trekling poles and taught how to use them. We began trekking from Sari to Degriatal. The way was difficult
and we would have slipped off and on had it not been for the trekking poles. The view on the way was
armazing. We saw a variety of colourful birds flving freely in the sky. We also had an amazing view of the
Kedarnath range. We reached Deoriatal in around four hours and stayed there for the day The rnext morning
we trekked from Deoriatal to Rohini Bugyal. It was a windy day and thus it became very chilly. We trekked
through the forests and witnessed lush greenery all arcund. It was an eight km long trek. It was the month of
Decernber and the trel was all coverad with snow. We were all tired on reaching Rohini Bugyal. We had our
lunch, took some rest and roamed around to view the scenic beauty. On the third day we trelkded from Rohini
Eugyal to Chopta. It was a six kumn long trek covered with dry leaves and snow. We saw a beautiful waterfall on
the way and sat by its side for some time. On day four, we trekked from Chopta to Tungnath to Chandrashila
and back. This was the most challenging route. The trel: from Tungnath to Chandrashila was especially very
steep and scary. We stood on the Chandrashila peak for a while to see the picturesque view and clicked several
pictures. It was pure bliss and a great experience.
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